Form 604

Corporations Act 2001 Section 671B

Notice of Change of Interests of Substantial Holder

To Company Name/Scheme Crane Group Limited (CRG)

ACN/ARSN 008 410 302

1. Details of Substantial Holder

Name Suncorp-Metway Limited and its Subsidiaries

ACN/ARSN (if applicable) 010 831 722

There was a change in the Interests

of the Substantial Holder on 01/07/2009

The previous notice was given to the company on 02/06/2009

The previous notice was dated 29/05/2009

2. Previous & Present Voting Power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate had a relevant interest in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of Securities	Previou	s Notice	Present	t Notice
Ordinary shares	Person's Votes Voting Power		Person's Votes	Voting Power
	3,967,056 5.1445%		5,045,320	6.5428%

3. Changes in Relevant Interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of Change	Person whose Relevant Interest Changed	Nature of Change	Consideration given in Relation to Change	Class & Number of Securities Affected	Person's Votes Affected	
Since	Suncorp Metway Investment Management Ltd					
Previous Notice	Tyndall Investment Management Ltd	Refer Annexure 2				
	New Zealand Guardian Trust Company Ltd					

4. Present Relevant Interest

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of Relevant	Registered Holder of	Persons Entitled to be	Class & Number of	
Interest	Securities	Registered as Holder	Securities	
Refer to Annexure 1				

5. Changes in Association

The persons who have become associates of, ceased to be associates of, or have changed the nature of their association with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name & ACN/ARSN (if applicable)	Nature of Association	
Not Applicable		

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address	
Refer to	Annexure 1	

Signature

Sign Here:

Print Name:	C. Chuter	Capacity:	Company Secretary

Date:

02/07/2009

Annexure 1

Relevant Interest Holder	Registered Holder of Securities	Registration Details	Person's Votes
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (IPT)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	3,908
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	337
New Zealand Guardian Trust Company Ltd	FIRTH BARBARA A B AGENCY	THE NEW ZEALAND GUARDIAN TRUST COMPANY LTD PO BOX 1934 AUCKLAND	3,000
Tyndall Investment Management Ltd	NSW BUSINESS CHAMBER LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 13200-14 NDTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	56,028
Tyndall Investment Management Ltd	AMP CAPITAL INVESTORS	AMP CAPITAL INVESTORS LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	662,076
Tyndall Investment Management Ltd	CATHOLIC SUPER FUND	CATHOLIC SUPER FUND C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	228,297
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD IOOF INVESTMENT MANAGEMENT LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C IOOF INVESTMENT MANAGEMENT LTD A/C 16080-18 IMTYAE 5TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	219,685
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MERCER INVESTMENT NOMINEES LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MERCER INVESTMENT NOMINEES LTD A/C 11120-12 WMTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	1,005,644

Relevant Interest Holder	Registered Holder of Securities	Registration Details	Person's Votes
Tyndall Investment Management Ltd	OPTIMIX LTD	OPTIMIX LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	464,846
Tyndall Investment Management Ltd	PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY	TASMAN ASSET MANAGEMENT LIMITED A/C PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	24,014
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN CORE SHARE VALUE FUND GPO BOX 5078 SYDNEY NSW 2001	340,540
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE INCOME FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE INCOME FUND GPO BOX 5078 SYDNEY NSW 2001	42,231
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	1,377,701
Tyndall Investment Management Ltd	OPTIMIX INCOME STRATEGY	OPTIMIX INCOME STRATEGY C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	379,350
Tyndall Investment Management Ltd	WORKERS COMPENSATION NOMINAL INSURER	WORKERS COMPENSATION NOMINAL INSURER C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	178,938
Tyndall Investment Management Ltd	RAC INSURANCE	RAC INSURANCE PTY LTD GPO BOX 5078 SYDNEY NSW 2001	58,725

TOTAL UNITS: 5,045,320

Annexure 2

PORTFOLIO	TRADE DATE	TRADE TYPE	NET AMOUNT	UNIT PRICE	UNITS
AMP CAPITA	L INVESTORS				
AMPC	01/06/2009	Purchases	52710.7	9.6293	5460
AMPC	02/06/2009	Purchases	62991.27	10.0432	6256
AMPC	11/06/2009	Purchases	30172.81	11.142101	2708
AMPC	12/06/2009	Purchases	42491.31	10.7	3961
AMPC	16/06/2009	Purchases	910643.11	10.5455	86133
AMPC	17/06/2009	Purchases	68415.76	10.2952	6642
TYNDALL AU	STRALIAN SHA	ARE WHOLESALE	PORTFOLIO		
TASWP	01/06/2009	Purchases	70145.78	9.629299	7266
TASWP	02/06/2009	Purchases	81125.41	10.0432	8057
TASWP	12/06/2009	Purchases	41815.48	10.7	3898
TASWP	15/06/2009	Purchases	15269.32	10.396102	1465
TASWP	16/06/2009	Purchases	550521.84	10.5455	52071
TASWP	17/06/2009	Purchases	73329.1	10.2952	7119
TASWP	30/06/2009	Purchases	539178.12	10.1399	53038
TASWP	01/07/2009	Purchases	2463869.41	10.0937	243725
CATHOLIC SU	JPER RETIREM	ENT FUND			
CSRF	01/06/2009	Purchases	11044.15	9.629301	1144
CSRF	02/06/2009	Purchases	12656.65	10.043198	1257
CSRF	12/06/2009	Purchases	6661.72	10.7	621
CSRF	16/06/2009	Purchases	89877.01	10.545499	8501
CSRF	17/06/2009	Purchases	11814.64	10.295196	1147
CSRF	30/06/2009	Purchases	88758.32	10.139899	8731
CSRF	01/07/2009	Purchases	404014.94	10.0937	39965
OPTIMIX					
OPTI	01/06/2009	Purchases	23063.35	9.629301	2389
OPTI	02/06/2009	Purchases	26521.57	10.0432	2634
OPTI	12/06/2009	Purchases	14310.38	10.7	1334
OPTI	16/06/2009	Purchases	180525.82	10.5455	17075
OPTI	17/06/2009	Purchases	24134.01	10.295198	2343
OPTI	30/06/2009	Purchases	180769.74	10.1399	17782
OPTI	01/07/2009	Purchases	822698.34	10.0937	81381
INVESYS SUP	PER RETIREMEI	NT			
BTR	30/06/2009	Sales	4993.8	10.15	492

IOOF INVES	TMENT LTD				
IOOF	01/06/2009	Purchases	10995.87	9.629298	1139
IOOF	02/06/2009	Purchases	12646.59	10.043201	1256
IOOF	12/06/2009	Purchases	6887	10.7	642
IOOF	16/06/2009	Purchases	91462.89	10.5455	8651
IOOF	17/06/2009	Purchases	11237.82	10.295197	1091
IOOF	30/06/2009	Purchases	85434.07	10.139899	8404
IOOF	01/07/2009	Purchases	388810.67	10.0937	38461
MERCER IN	/ESTMENT				
MERI	01/06/2009	Purchases	79558.41	9.6293	8241
MERI	02/06/2009	Purchases	92976.56	10.0432	9234
MERI	11/06/2009	Purchases	44813.53	11.142101	4022
MERI	12/06/2009	Purchases	62562.31	10.7	5832
MERI	16/06/2009	Purchases	1366403.42	10.5455	129241
MERI	17/06/2009	Purchases	103447.68	10.2952	10043
NSW/ BUSIN	ESS CHAMBER	ITD			
ABL	02/06/2009	Purchases	3644.96	10.043204	362
ABL	16/06/2009	Purchases	30025.96	10.5455	2840
ABL	30/06/2009	Purchases	22070.12	10.139899	2171
ABL	01/07/2009	Purchases	100394.65	10.0937	9931
DUDUG TOU	STEE OF ACT				
	STEE OF ACT	Durahasas	27402.07	10 545400	2502
PTACT	16/06/2009	Purchases	27403.97	10.545498	2592
PTACT	01/07/2009	Purchases	47796.38	10.093699	4728
RAC INSURA	ANCE				
RACI	01/06/2009	Purchases	12752.11	9.629304	1321
RACI	02/06/2009	Purchases	16371.07	10.043198	1626
RACI	12/06/2009		15543.06	10.7	1449
RACI	16/06/2009	Purchases	163906.17	10.5455	15504
RACI	17/06/2009	Purchases	1081.54	10.295238	105
TYNDALL AL	JSTRALIAN COI	RE SHARE VA	LUE FUND		
TACSVF	01/06/2009	Purchases	71333.23	9.6293	7389
TACSVF	02/06/2009	Purchases	91335.31	10.0432	9071
TACSVF	11/06/2009	Sales	74986.33	11.1421	6730
TACSVF	15/06/2009	Purchases	20053.35	10.396102	1924
TACSVF	16/06/2009	Purchases	899626.54	10.5455	85091
TACSVF	17/06/2009	Purchases	6468.7	10.295207	628
TACSVF	19/06/2009	Sales	108234.19	10.3345	10500

WORKERS COMPENSATION NOMINAL INSURER

WCNI	01/06/2009	Purchases	9132.66	9.629302	946
WCNI	02/06/2009	Purchases	10552.24	10.043197	1048
WCNI	12/06/2009	Purchases	5900.08	10.7	550
WCNI	16/06/2009	Purchases	77189.98	10.545499	7301
WCNI	17/06/2009	Purchases	9085.02	10.295204	882
WCNI	30/06/2009	Purchases	69585.47	10.139899	6845
WCNI	01/07/2009	Purchases	316640 95	10 0937	31322